Задание 6 (№ 27238)

В треугольнике ABC угол C равен [image: image1.png]


, [image: image2.png]AC =48



, [image: image3.png]sinA = —



. Найдите AB.

Задание 6 (№ 27240)

В треугольнике ABC угол C равен [image: image4.png]


, [image: image5.png]AC =4



, [image: image6.png]cosA =0.5



. Найдите AB.

Задание 6 (№ 27244)

В треугольнике ABC угол C равен [image: image7.png]


, [image: image8.png]


, [image: image9.png]


. Найдите AB.

Задание 6 (№ 27247)

В треугольнике ABC угол C равен [image: image10.png]


, [image: image11.png]


, [image: image12.png]


. Найдите AC.

Задание 6 (№ 27284)

В треугольнике ABC [image: image13.png]


, [image: image14.png]sinA = —



. Найдите AB.

[image: image15.png]Haizure cosa, ecau sina=0,8
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Haizure sina, ecn cosa=0,6
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